COMMON CORE

COLLABORATIVE
okt Grade 4

Additional resources available at: didax.com/cccc

TEACHER GUIDE
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Common Core Collaborative Cards support the teaching
<% and learning of mathematics in several ways. They can
%% be used:
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» As an activator for the day’s lesson
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 To review previous content
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As a learning center activity
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« For students’ independent practice
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Common Core Collaborative Cards provide convenient
> . . . .
55255 and motivating ways to place students in collaborative

o . . .
teams for an upcoming unit or problem-solving lesson.

The Common Core Collaborative Cards series consists
of five decks of cards per box, with each deck focusing
on one domain of the Common Core at that grade level.
fozotot‘t? The five domains are Operations and Algebraic Think-
ing, Number and Operations in Base Ten, Fractions, Mea-
surement and Data, and Geometry. Each deck provides
problems representing the standards articulated in the
CCSS for that particular grade level and domain.

Teachers using these decks have commented that they
have been able to observe what their students under-
sy stand as well as identify their misconceptions. Teachers

85555 have also noted that their students began to rely on each
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GROUP MEMBER ROLES

The cards offer a second feature: the reverse side of each
card indicates the role the student holding the card is to
perform in the group. After the students are presented
with the task for that day’s lesson, each member of the
group takes on the designated role. These roles are as
follows:

« Discussion Director

* Resource Manager

» Recorder

» Team Captain
Teachers can easily identify the roles that students are
expected to perform, since students place their cards on

their desks with the side indicating the role facing up.
The roles are explained as follows:

If you are the Discussion Director, your jobisto ...

» Make sure that everyone has read the problem and
understands what the question is asking. You can
ask, “What do we know?” “What do we want to find
out?” and “Can we make a prediction?”

« Invite everyone in the group to participate. You can

use statements such as, “What is your idea?” and
“What are you thinking?”
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If you are the Resource Manager, your job is to ...

 Ask the teacher a question if all of the members of
the team have the same question.

 Get any supplies needed by the group.
« Keep track of time.

The Resource Manager’s role goes beyond taking care of
the supplies. The Resource Manager is the only member
of the group who may ask the teacher a question. Before
asking a question, every member of the group must have
the same question, and the teacher can then direct the
answer to the whole group. This helps the members of
the group become more interdependent, since group
members can answer many of their questions themselves
rather than relying on the teacher.

If you are the Recorder, your jobis to ...

e Keep track of the thinking of the group. Be
ready to answer how the group approached the
problem. What strategy did the group use to solve
the problem?

 Record the work of the group. Be organized and clear.

» Ask,“Is there anything else we need to include?”
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These practices focus on the specific actions taken by
students who are mathematically proficient.

The eight mathematical practices are:

< 1. Make sense of problems and persevere in
solving them.
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Reason abstractly and quantitatively.
Construct viable arguments and critique the
reasoning of others.

.

Model with mathematics.

Use appropriate tools strategically.

o v A

Attend to precision.
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Look for and make use of structure.
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8. Look for and express regularity in repeated reasoning.
(Common Core State Standards for Mathematics, 2010, pp. 6-8)
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The authors of the Common Core carefully chose to begin
the mathematical practices with problem solving. “Prob-
lem solving is not only a goal of learning mathematics
but also a major means of doing so” (NCTM, 2000, p. 52).
Students who are engaged in solving meaningful tasks
are in the process of building their understanding. They
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are making connections, constructing arguments, ana-
&5 lyzing approaches, looking for patterns, and reflecting on
their thinking. These students are learning mathematics,
and they have opportunities to exhibit the eight math-

ematical practices.
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The Collaborative Cards provide students with opportu-
nities to develop proficiency in the eight mathematical
practices. Students solve problems, discuss strategies,
and reason mathematically (Mathematical Practices
1-3). They work with patterns and apply them in various
contexts (Mathematical Practices 7-8). They determine
whether to calculate problems mentally or use paper
and pencil (Mathematical Practice 5). By attending to the
use of appropriate vocabulary and the accuracy of their
responses, they are attending to precision (Mathematical
Practice 6). They use equations to model problem situa-
tions (Mathematical Practice 4).

The Collaborative Cards provide teachers with insights
into what individual students truly understand. As they
apply their knowledge in new contexts, students use
what they know. As one fifth-grade teacher in Grafton,
Massachusetts stated, ‘I gained insights into my students’
misconceptions. These cards are an easy way to learn
about students’ strengths”
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Peter just got a puppy! He wants to know if his back yard
is big enough for his puppy to play in. His yard measures
With your partners, find another way to expres; 9 meters long and 8 meters wide. What is the area of Peter’s yard?
Discuss with your group: Is this enough space for the puppy to play in?

For these two values,

Find the value.
find the largest common multiple that is les:

Desean spent $8 on his toy truck|
Olivia spent 9 times that amount on a
How much did the sweater cost?
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William wants to organize his baseball card| Deval and Betty brought bags of canned food Your partners have the largest composite numbes Figure out the pattern. Then determine the value that goes in the blank.
He has 108 cards. He has just three teams, with the Deval brought 9 bags, with 4 cans in ead (Your team has the same value.)

cards for each team. How many cards does William Betty brought 4 bags, with 9 cans in eac Answer with your group: bl

How many cans did each student bri Why is 2 in the intersection of this Venn I ’:.
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Michele spent $7 on a pair of baby shoes for The library bookcase has 4 shelve: Let’s compare two pieces of string
She spent six times that much for a pair of sho| There are 168 books in the bookcase and each sh) The first is 6 inches long. The second is 7 tir
How much did Michele’s shoes cost number of books. How many books are on How long is the second string?

‘What number goes in the box to make the statement true?

When you find your group, make up a story problem
that can be solved by the number equation above.
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Peter is three years older than Kit.
Mike is 3 years younger than Kit.
The sum of all of their ages is 12. How old is Kit?
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Mathville Junior High School has a small a1 Michael works on an apple farm. The fourth graders are going on a field trip to Tanisha thinks the answer is 12. Deval disagrees.
The auditorium has 216 seats arranged i He helps pack the apples for shipme; There are 430 students. If each bus holds 3¢ He thinks you have to begin on the left to solve the problem.

If there are 18 seats in each row, how many ro He recently shipped 300 apples with 25 apples how many buses should the principal The answer he gets is 21.
How many crates did he use? Which is the correct answer?
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Your partners have the same value as the last e! Harry spent some of his money on an action figure. ‘What is Gerald's original number’ Find the largest prime number that is a factor of 92.

With your partners, find the rule that represents f i 2 Be ready to share with your group how you found
chart. Might the value 35 be listed in the right col much money did Pierre spend on his b
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Four children are sharing a bottle of app] Sheryl has collected 282 Popsicle sticks for he ‘What value goes in the box to make this a tru ‘What value goes in the box?

The bottle holds 27 ounces of juice. If the childrer She wants to store the Popsicle sticks i

equally and each child drinks a whole numbe If she places 94 sticks in each bag, how many bag Can you find the solution in your head?
how much will be left in the bottle; Share your strategy with your group.

%
Do etetetototeletetete %%

K RRRKKRRRKL

o,

140 =140

XK
13002 %

I'm thinking of a number.

It is not prime,

xy and it's not composite.
ANSWER - P’
1 xy  1,245+1,245

e
CRHXRHRK
LK
Rashawn has $15 in his wallet. He wants to buy 2 These expressions all represent the same valu; Duncan says any number can be written as a fracti ‘What number is Belize thinking of?
costing $1.29 each, 4 packs of paper for $2.38 apiece, think of how you would write 18 as a fr;
$1.90. Does he have enough money? If yes, how m
get? If no, how much more money does ‘What would the denominator be?
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Name the number that is 10 times big Find the value. Find the answer and then discuss with p) Find the smallest value on this card.
than the number shown on this numbe how you might calculate this problem in Round the smallest value to the nearest hundred.
Your partners have this rounded number.
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I'm thinking of a number: 6 hundreds + 14 te I I think this involves the order of operations. I

Pm thinking of a number:
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Clarence says that he can subtract numbers using a Are these boys thinking of the same nu Maurice had $1,000 in the bank. He took out $153 Help the girls solve this problem.
Clarence began at 1,000 and made jump If so, what is this number? How much did he have left in the ba
How much did he take away from 1,000, and wha
Your group has Clarence’s answer to his subtra
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I can divide 2,080 by 10 in my head
2,080 10 =
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26 x 8 is the same as (20 x 8) + (6
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If Sara is correct, your partners have the answer The units digit is 4 times greater than the hu William has $20848 in his bank acco Find the answer and then discuss with partners
The units digit is 8. A zero is in the tens If he rounds his money to the nearest wha how you might calculate this problem in your head.
If this is not true, your partners have 1,000 as about how much money does he
‘What is the number?
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10%x6=
So...

10%x60=7?

Be ready to explain your thinking to your

How many balls are represented her,

Be ready to explain how you found your answer.

How many times greater is 72 than

Do you mean 36 x

72

Help the girls by finding the answer to thei

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Explain how your problem relates to the problems your partners have.

Yes, you all have the same answer. Why?

‘What is three times 3 groups of 57

How many stars will be left over?

Morgan has 126 stars that she wants to arrange on a
rectangular-shaped cloth. She wants to make exactly 4 rows.
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Mom cut the pizza into 8 slices. ‘What value is this?
1 ate one slice and my brother ate 2 s}
What fraction of the pizza did we ez Question for your group: How do you know that your sum is correct?

‘What is the sum of these two fractio: ‘What is the sum of the shaded amounts on these two number lines?
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‘What is this value as a fraction? ‘What value is this? Solve this equation. Name the fraction represented by the shaded regions.
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Find the unit fraction that is equivalent to both of Are these fractions equal? The rhombus covers how much of the he|
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Jerry ate 2/3 of the pizza. How much did he leave for me to eat?

If yes, what unit fraction is equivalent to both of (Give your answer as a fraction.) (Give your answer as a fraction.)

QIRIIKLLRRS
RIIIRKS
QRIS

CRIIIKIKIRHK I K

XX

19090262092 %%%

%

HRIIKHKRXXRK

2
o,

QRIRRLKK

HRIIIIKIKARIIRHK

o,
0000 05050 00009900 050"

v
o
ot
ot
S8

KRR LEKEELRLEELRAKL

XRXRRIKIKIKAARARAKRKRKD

50
odels
&
ot
&
doels

o,
o,
o%s
1%0% % %%

%
KKK

ORRIXRKK

QLR
RRRRK

3

X

o

o
XL

How many fourths are shaded here

X

I need 7 times the shaded part to make my What is the sum of these fractions,

%
KK
X2

714

My little brother ate one slice from one of the pizzas.
If the two pizzas together represent the whole,

o
o
X

&

%

3L
&

dode!

o
o

what fraction is left for me to eat?

0%
%%

XK

050503050°020°9,0°070°

0.0.0.0, $94%%%

(Give your answer as a fraction.)

X

SO0 0 0. 0.0.0.0.0.0.0.0.0.0.0.0.0.0.0.9.9.0.0.0.0

%

KRR IKK

K RRLRKKRR

D00,
SRORIEKKAEILIILRS
bo%e;

%
%

K2
0%

ot totetotetoted

9% X

3 divided by

o202

%

&
&
2000
9.0.0.0.0.0.0.0.9.0.0.0.0.0.0.0.0.0.0.00.0.09¢

o%
%
6% %
R

0%

L
2R
8
3K
3R
00000 0.000000.00.00000000046000000

%
%%

&
bl
QK&K
XS
&,

State this decimal as a fraction.

Represent this value as a fraction| Represent this as a fraction.
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3/10

What fraction should be placed in this box?

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.

9000202022002 0.9:9.0.0.0.0.0.0.0.0.9.0.0.0.9.9

190920 00%.9.09.0.0.0.0.0.0.0.0.90.0.9.0.9,

SRRRRINIRIARRIALS
ot

0R0RIRRIARRIRIRIIKRIARIIAIN
s ot ot o o tel RRRRS X
Q0RIRIIIINEERIIRIRNS

1900006200, 0,0,0.0.0.0.0.0.9.9%

XXX
QOIRRIKNKARRKNK,
RIS
SRR
RS
R

SRR
0’0’0’0

020,00, 0.0.0.0.0.99.90.90.9.9.9.0.0

000000 000000009000 9:0.0.0.9.9. 0.0,

O

&

&

Q2
(26565050

&

X2
KR
)

&
o

o

XK RKRKIIIHKHN
S EREEKERRLEAEKLRRK

0‘000000
R

RRRRAELLLEER
X K K8080808088
L2020 020200000000

&
bt

ot tetetetototedetetote et

0.0 0.0.0.0.0.0.9.9.0.0.9,

ot tats ot todetotetode!

b0
L2etete!
KRR
LR R R
R

)

000030 3000002020°050507050°02000. 020"

CHRRRKRKIRIRHXIH I KK XX

&
&

55

%

9%
e %0 %%

doeteds
3
QXL

QR
2R
O
P %0 %%

o,
9%
RS

QORIRKAKKAKIIKES
%
2%
55

QRRIKIRIIRHRHH KKK

O
D02000,020,070°0,0,070,007000

QRRIKKRIIRHRHRHK KKK

Q
>
K2
K2
2
Q2
2
Q
o
o
2
2
2
2
2
2
Q2
2
%
2

%
CRRIXRKIIIRHXIHK KKK KX

RSREREEALLLLELELLELLL

X

SR RIKRIIIRHXIHKKIXI KX

%

3

&
o%%

o,
| >
[
2
%
R

O
o
%
|

]

s

X
R

Podetode
]
R
%
K&
RRLLLLKLR

o%
0%

K

Peteleleded
b
b0

SO
RN
Pl
KK
R
QKK

%%
0. 0.0.0.0.0.0.0.0.0_

[5R
19496999
190562622 %% %% %

o

9% %%
909499

QORIRIKEKKK
RRIANRIIRRIRRARL
Q0RIRIRRKKKS

o
Yo%

o
9,

002026565062 % %% %6 %4 26 %!

%
Q



K2

1900000 % %0 00 040400 %e% € 888K KK KL SRR EEKEEKERESEEEEREREEEEE KKK REEEEEAEREREEEEEREEEREK KK EERSSEEREREREEAEE LA LEREREREK KL R RERESKKELEAEEEKKER

QORRRIKKEKIKS QR R 0000 R R R IIIRRILLRRRRRRIRIIIIILLLRRRKKNS

RRRILLEKKK BRSO SRR RS LK LI IR

$909.9,9.9,0.0.9.0.0.9.0.0.0.0.0.0.0.0.0.0.90.0.9.0.0.9.9.0.9.9.9.9.9.9.095.90.0.0.0.0.0.0.0.0.9.0.9.0.0.009900900900.9.9.060.006000000009000000000009.6.05.0.000.00.0000.00009090.009.00900.0.0.06909090090000 (K2
$90.9.9,9,9,0.9.90.0.0.9.0.9.0.0.0.0.0.0.0.0.90.0.9.0.0.9.9.0.9.9.9.90.9.9.00.9.0.0.0.0.0.0.0.06.0.0.0.0.0.009090900900.9.06.050.0060.00.0060009000000000009.0.0.0.0060.0060.06000.000.9090.000.00900.000690.00000400 2

% e e e e e e e o e e o e s e e e e e e oot

0000000000”’0000“‘0000"00000000‘....00000000QQQOQQQQQQQQQQQQQQQQQ00000““00000000000”’0000“‘0000"00000000‘..OOQQQQQQQQQQQOQQQQQQQQQQ .:.

%

059

0

5%
&S
9.0, 0.0 00000000

FRACTIONS GROUPINGS

ANSWER
3/5

:90%6%%%

0%
o

3%

K2
Yo%
2

3%

XS
XX
oS

What fraction of the circles is shade!

‘What fraction should be placed in this| Five friends are sharing 3 large sandwiches.
How much of the 3 sandwiches will each friend get to eat?

Represent this value as a fraction|
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Find the value. State this value as a fraction. Use the number line to determine the length of the Which is closer to 07

(Give your answer as a fraction.) Explain to your group how you know.
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Your mom has $40.
She says that you can have 1/10 of that amount.
How many dollars is she going to give you?

Select the smallest value.

Select the largest value. How much is 1/10 of this amount
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ANSWER

12/4 or 3

Henri says this angle measures 120°. Loretta thinks
Choose the answer that best describes the

(Your partners have the same letter answer

ere is called ZABC.

ANSWER
be called ZCBA.

5/8 YNNI
e b be called ZBAC.

‘Which statement is not correct?

(Your partners have the same letter answer

ANSWER
4/9

Katrina said, “Look, I made my initia
She knows that angle ABC measures 80° and ~DBE
If ~DBA measures 30°, how many degrees

Melanie made 100 mL of punch. She used four
lemonade as cranberry juice. How many mL of ¢

did she use? Use the bar diagram to help you find
(Your partners have the same letter answer

Harry left home at 7:30. He rode his bike 25 minud

house. The two friends rode 15 minutes to school
minutes later. What time did the bell

(Your partners have the same letter answer

This sprinkler rotates 1 degree every
How many degrees does the sprinkler
in one hour and 10 minutes?
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A: 20 ounces.
B: 30 ounces
C: 24 ounces.
D: 22 ounces

Roberta says, “Sixteen ounces equal one
She has 1%% pounds of candy. How many ou:

(Your partners have the same letter answer

The width of the rectangle is 70 ft.

: The perimeter of the rectangle is 300 ft
Avea = length * width

D: Perimeter = length + width

Select the statement that is not tru:

(Your partners have the same letter answer

Angelina measured the length of her p
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A: 80

B: 800
C: 8,000
D: 4,000

The students know that 1,000 grams equal 1 kilogram. They found that
4 textbooks weighed 8 kilograms altogether. How many grams is that?

(Your partners have the same letter answer as you do.)

A: 10 feet = 120 inches
B: 7 feet = 84 inches
C: 35 feet = 42 inches
D: 2 feet = 30 inches

Sandra made a table converting feet to inches.
‘Which conversion did she get wrong?

(Your partners have the same letter answer as you do.)

How many square feet of carpet will be needed
to cover the floor of this room?
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Thickness of Books in Inches
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40°
B —) 0000 o
4 ANSWER
Q 5/6

|

The students measured the thickness of the books:
classroom. The line plot above displays their resull
stacked the books, how many inches high woulc

|

Sally measured the angle shown here. She wa:
the angle into 6 smaller angles that are equ
How many degrees will each of the smaller ang

Mary Mesure made a table converting centimeter:
How many millimeters are the same as one ¢

ABand BC are perpendicular.
How many degrees does the angle with the “?” mark measure?
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Harry started riding at 7:35 a.m.

He stopped for breakfast for 10 minu
He finished his ride at 8:30 a.m.

How many minutes was Harry riding hi;

This angle is formed by two perpendicul¢
How many degrees does one half of this angl

|

Ignacio discovered that the area of his rectanc
back yard is 450 square feet. The width of the y.
How many feet long is Ignacio’s yar(
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Crispin poured 360 mL of liquid into 8 beakers. If each beaker had the
same amount of liquid, how many millimeters were in each beaker?
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Roosevelt's square play yard has an area of 36
How many feet long is each side of the

~_{9
Z O

Sapphire cut a circle into equal par’

She measured each angle at the center of I
Each angle measured 60°.

How many parts did Sapphire cut her circ

Maida has 5 quarters, 20 dimes, 40 nic

1 half-dollar, and 25 pennies in her pigg;

How much money does Maida have in he
(State the amount in dollars.)

Grandpa wants to give each of his grandchildren the same amount
of money. He has $630, and he will give each grandchild $105.
How many grandchildren does Grandpa have?
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B: rectangle C: triangle
ANSWER : : A A prpendior o T,

B: ABs parallel to .
B 3 C: his perpendicular to .
: D: jis parallel to CD.
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Which triangle is a right triangle? ‘Which shape has parallel sides? This trapezoid has one line of symmet Which statement is true?

How many lines of symmetry does a squareg
(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer as you do.)
(Your partners have the same letter answer a:
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+ Rhombus, rectangle
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oTe T T : Trapezoid, triangle
CRARARRKL

Donna said that AB is parallel to DC What el 2ABC is a right angle. What is the measure of ‘Which pair of shapes shares a common attribute—| Grafton said, “The four angles in a square and in a rectangle have the
same total number of degrees” How many degrees are in a square?
(Your partners have the same letter answer a: (Your partners have the same letter answer ag (Your partners have the same letter answer a:
(Your partners have the same letter answer as you do.)
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Rhombus
D : Equilateral triangle

— : Scalene triangle
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This rectangle has only two lines of sym: Mike knows that the area of his rectangular living room is 54 square
‘Which shape does not have any lines of sy meters. He also knows that the width of the room is 6 meters.
‘What is the length of Mike's living room?
(Your partners have the same letter answer a: (Your partners have the same letter answer as you do.)

Meg is thinking of a shape: ‘It is a quadrilateral. One| One of these shapes contains a right angle. Whic
sides is parallel, but the sides are not equal i

What is the shape?

(Your partners have the same letter answer a:

(Your partners have the same letter answer ag
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Right Angle  AcuteAngle  Obtuse Angle St
T TeTe
QRHRRR
SRRRX

Frederick says, “Begin with the number of vertices A lawn sprinkler turns 90 degrees every A square living room needs 16 square feet of carpeting
Then subtract the number of vertices in a re How many minutes does the sprinkler take to to cover the floor exactly. How many feet long is one side of the room?

(State your answer as a number.) Divide this number in half. Now, square that}
Find the answer to Frederick's puzzle

Marianne made this chart. How many of her entrig

Michael says, ‘A right angle can be broken into twg Pedro says, ‘A rectangle cannot have an obtuse angle” Is Pedro correct?

Josh said, “The length of the side of a rhombus is 7 Isabella said, "A straight angle is made up of two
Do you agree with Michael?

length of the side of a square is 7 inches. I think that 50 a straight angle must measure 180 degrees. 90

these two figures will be the same” Do you agreg Is Isabella correct?
(If you agree, the answer is “yes.” If you disagree, the| (If you agree, the answer is “yes! If you disagree, the (If you agree, the answer is “yes” If you disagree, the|

(If you agree, the answer is “yes” If you disagree, the answer is “no!’)

Correlation to the Common Core State Standards for each group of 4 cards can be found at didax.com/cccc.
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Ellie says, ‘Any line contains just two points” Do you agree with Ellie?

Maria says that all of these figures are rays. Is Cindy says, “This equilateral triangle has one line Robert said, "All triangles have at least one line of
Do you agree with Cindy? Is Robert correct?
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A triangle has angles that measure 50° and 120°.
How many degrees is the third angle?

What is the value of x? Goldie presented the following problem to her ¢ What is the measure of the missing ang
“Find the total number of degrees in any red
Divide that number by 36. What is the res
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How many degrees is the smaller angle What is the value of x? One angle is 4 times larger than the other An L-shaped yard has an area of 9 square feet.
How many feet long is its perimeter?
How many degrees does the smaller angle KK
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GRADE4 @ C

TEACHER GUIDE

Practice and reinforce the content from the Common Core
State Standards with these innovative activity cards.

Created using the five domains from the Common Core State Standards, these cards
actively engage students in problem solving and promote mathematical discussion.
Students solve the question on their individual card and then look for others who have
the same solution. The four students holding cards with the same answer form a
group; the back of their cards show the role that each student will play as the group
works on the next task. Based on the most recent research about the effectiveness of
collaborative learning, and in accordance with the Common Core Mathematical
Practices, these card sets can be used repeatedly to group students for an upcoming
unit or problem-solving lesson. Cards can also be used for small-group instruction or
as an independent activity. Each grade-level set includes 36 durable, two-color cards
per domain for a total of 180 cards. Teacher Guide includes suggestions for classroom
use, answers, and access to website with additional tasks and resources.




